Mean = ‘average’   Add all the numbers then divide the ‘number’ of numbers
5, 6, 7, 8, 9, 5, 2, 3, 1                   5+6+7+8+9+5+2+3+1 = 46   46/9 = 5.1   the mean is 5.1
------------------------------------------------------------
Mode = most often seen number  (think about a criminal has an MO or modus operandi or the most common thing he/she does)
5, 6, 7, 8, 9, 5, 2, 3, 1               Arrange the numbers in order 1, 2, 3, 5, 5, 6, 7, 8, 9  the number 5 occurs twice so it is the mode   the mode is 5
------------------------------------------------------------
Median = middle number (think about the median is in the middle of the road)
5, 6, 7, 8, 9, 5, 2, 3, 1               Arrange the numbers in order 1, 2, 3, 5, 5, 6, 7, 8, 9  
5 is the number that is in the center or middle of the grouping
-----------------------------------------------------------------
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